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Attempt A/l questions.

Question 6 carries internal choice.
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1. Aegis Consulting is a well-established company in India with its head office in Bangalore. It

is involved in software development products and services. Aegis plans to expand its business

operations for which it needs to recruit staff for the proposed locations in major metro cities.

It plans to go on a recruitment drive for hiring the following :

(¢)  Vice-President—Operations

PTO.
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" (hy 15 Trainee Enginéers
() 10 Ad]ﬁinislrati\-'e Staff
_‘ (d) 2 Chartered Accopﬁtams.
Aé the HR manager of Aegis Consulling discuss the various sources of recrgilmgnt you wou.ld

like 1o choose for the recruitment of the above mentioned positions, justifying your choice for -

“choosing these methods. o ‘ ' 12
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L3 . 1636.
‘What are the components of compensation ? Explain the steps™in determining pay

rales. : 3+7=10
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Touch Communication bases its employees annual pay raises on how well they perform their -

job duties. For the pgsl many vears the ratings have hovered a-round 10%.of the bas;c:pay.
Through a survey condicted by the HR it was realized that 7emp1:05fees did not see a conn‘e;tion
with pay and performance. Majority of the workers were giQen an excellent raiing‘byi their
supervisors, consequently there was. not much difference in the _merit raises awarded (o the :

employees. The General Manager, HR felt the supervisors were not doing justice to their task

- of appraising their employees objectively. As a result a new system for appraising performance

was developed under which the supelyisors had to distribute the einployees in various categories
based on their performance ratings. The top 10% got ‘e‘xcellent;, th¢ next 20% got “very good.’., _
next 35% got ‘satisfactory” and the Iowest-lO“/;) got ‘unsatisfactory’.

After the system was put in place there was even greater resentment towards the supervisors

and allegations of favouritism by the employees. The employees could not understand why their

performance had fallen suddenly.
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Questions

(@) ldentify the prob!emg in the ap-praisal method originally adopted by the Co. ? 1s the

- management’s decision to install the new prbcedure appropriate 7 6
(hy What can the manage;‘nenl‘ do to addll'ess the problem ? _ . o 6
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(a)mmﬁw_aﬁﬁaﬁmwuwmm%ﬂ?

XY7 Limited wants 20% less employees in the next three years because of several technological

chagnes. What will be the role of HRM and how will it implemient this change 7 10
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(a) Cisco Enterprises is a tool manufactunng unit which has reuently hired sales managers
and tool room technicians. It plans to organize training ploorams for these 1ncumbents

Which training methods can it use for training these employees ? 6

(b} A middle-aged lady joins back into working life after a.gap of fifteen years after her

- children have grown up. Although a management éraduate from an A grade bhsiness
school she is unsure if she can perform at the job with her rusty knowledge and skills.

He hrst day at work is anythmg, but smooth sailing. She had to find her way to the _

HR department for fulﬁlhng certain formalities and {hen could meet her boss in the Finance

. depé'rlm'ent only after waiting for a couple of héurs. Th(;.y new software seemed strange

énd n;) one spoke‘to her at all: By the evening, she is jittery about continuing with the

joB. As mdnagement'expert, ideptify what-went wrong al the first day of work and how

would you rectify the situation. _ ) .5
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© Write short: notes.On any :/'ow_- of the following : A . 4%5=20

Work life balance
International staffing approaches
Progressive disciplihe

Machinery for settiement of Industrial Disputes

Tec-hnologicéi advances and HRM.
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